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1 Bra vectors
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Use the bra/ket notation to determine (®|¥).
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2 Measurements and bra/ket vectors

A spin-1/2 particle is in the state |+&) and is subjected to an SG i measurement along the

direction i = L % + L §. Use the bra/ket formalism to determine the probabilities of the
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measurement outcomes.
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3 Operator action on kets
Suppose that (in the {|+2),|—2)} basis),

a) Let
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Determine an expression for A |¢)) in terms of {|+2),|—2)}.

b) Determine all four possibilities for
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How could these be used to reconstruct the operator?
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4 Ket/bra operator construction

a) Construct the matrix for |+2
b) Construct the matrix for [+2

¢) Construct the matrix for |—2
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d) Construct the matrix for |[—2
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